Bid #W2114718B1 - Temporary Nursing Personnel Services

Creation Date Jun 21, 2017 End Date Aug 2, 2017 2:00:00 PM EDT

Start Date Jul 24, 2017 10:50:24 AM EDT Awarded Date Not Yet Awarded

Royal Regions Incorporations

\$287,145.00 (4/4 items)

REJ

Bid Contact Larry Kolapo Address 1031 NW 202nd Street

rregions@hotmail.com ***DO NOT MERGE WITH 361007***

Ph 305-710-8787 Miami, FL 33169

	711 303-7 10-0/07	Wildill, FL 33109		
Agency Note	s:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
W2114718B1 01 - 01	Group 1: Licensed Practical Nurse - Regular Hours - First Offer	\$22.50	8600 / hour	\$193,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
W2114718B1 - -01-02	Group 1: Registered Nurse - Regular Hours - First Offer	\$29.50	3000 / hour	\$88,500.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
W2114718B1 - -01 - 03	Group 1: Licensed Practical Nurse · Overtime and Callout hours · First Offer	\$33.75	100 / hour	\$3,375.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	ode:	
W2114718B1 - -01-04	Group 1: Registered Nurse - Overtime and Callout hours - First Offer	\$44.25	40 / hour	\$1,770.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	ode:	
				Lot Total: \$287,145.00

First Care Home Services

\$328,480.00 (4/4 items)

AWD

Bid Contact First Care Frist

firstcarept@firstcareservices.com

Ph 305-945-9025

PII 305-945-9025

Qualifications DBE MBE SB WBE

Address 2040 NE 163rd Street

North Miami Beach, FL 33162

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
W2114718B1 - -01-01	Group 1: Licensed Practical Nurse - Regular Hours - First Offer	\$26.00	8600 / hour	\$223,600.00
		Supplier Product Code: Supplier Notes:		
W2114718B1 - -01-02	Group 1: Registered Nurse - Regular Hours - First Offer	\$33.00	3000 / hour	\$99,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
W2114718B1 - -01-03	Group 1: Licensed Practical Nurse · Overtime and Callout hours · First Offer	\$39.00	100 / hour	\$3,900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
W2114718B1-	Group 1: Registered Nurse - Overtime and Callout hours -	\$49.50	40 / hour	\$1,980.00

1/29/2018 p. 1

Address 10238 NW 47TH STREET

Sunrise, FL 33351

Address HOLLYWOOD, FL 33025

Exhibit 1 Page 2 of 5

	•			. 490 = 0.0
-01- 04	First Offe	r		
Product Cod		Supplier Product Co	de:	
Agency Note	:	Supplier Notes:		
				Lot Total: \$328,480.00

COCHHBHA ENTERPRISES, INC

\$343,900.20 (4/4 items)

AWD

Bid Contact Eddie Edwards eddie@thecei.com

eddie@thecei.com Ph 954-572-6802 Fax 954-742-5811

Qualifications CBE DBE MBE SB SBE

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
W2114718B1 - 01 - 01	Group 1: Licensed Practical Nurse - Regular Hours - First Offer	\$27.50	8600 / hour	\$236,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
W2114718B1 - -01-02	Group 1: Registered Nurse - Regular Hours - First Offer	\$33.75	3000 / hour	\$101,250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
W2114718B1 - -01-03	Group 1: Licensed Practical Nurse · Overtime and Callout hours · First Offer	\$41.25	100 / hour	\$4,125.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
W2114718B1 - -01-04	Group 1: Registered Nurse - Overtime and Callout hours - First Offer	\$50.63	40 / hour	\$2,025.20
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
				Lot Total: \$343,900.20

FLORIDA ONE CARE LLC

\$350,760.00 (4/4 items)

)|**|A**WC

Bid Contact Claudia Delgado

floridaonecare@gmail.com

Ph 954-518-3420

Qualifications SB WBE

Agency Notes:		Supplier Notes:			
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
W2114718B1 - -01-01	Group 1: Licensed Practical Nurse - Regular Hours - First Offer	\$24.00	8600 / hour	\$206,400.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
W2114718B1 - -01-02	Group 1: Registered Nurse - Regular Hours - First Offer	\$46.00	3000 / hour	\$138,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
W2114718B1 - -01-03	Group 1: Licensed Practical Nurse - Overtime and Callout hours - First Offer	\$36.00	100 / hour	\$3,600.00	
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:		
W2114718B1 - -01-04	Group 1: Registered Nurse - Overtime and Callout hours - First Offer	\$69.00	40 / hour	\$2,760.00	

1/29/2018 p. 2

.

Broward County Board of County Commissioners

Exhibit 1 Page 3 of 5

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

Lot Total: \$350,760.00

WorkSquare \$356,475.00 (4/4 items)

Bid Contact Renade Grant renade@worksquare.com Ph 888-815-9994 Address 1444 Biscayne Blvd Miami, FL 33132

Address 3440 NW 203 St

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
W2114718B1 - 01 - 01	Group 1: Licensed Practical Nurse - Regular Hours - First Offer	\$28.50	8600 / hour	\$245,100.00
		Supplier Product Co Supplier Notes:	de:	
W2114718B1 - 01 - 02	Group 1: Registered Nurse - Regular Hours - First Offer	\$35.00	3000 / hour	\$105,000.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
W2114718B1 - -01-03	Group 1: Licensed Practical Nurse · Overtime and Callout hours · First Offer	\$42.75	100 / hour	\$4,275.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
W2114718B1 - -01-04	Group 1: Registered Nurse - Overtime and Callout hours - First Offer	\$52.50	40 / hour	\$2,100.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
				Lot Total: \$356,475.00

INTEGRATED HOLDINGS,INC

\$373,520.00 (4/4 items)

Bid Contact Olaleye Olawale intholdings2@gmail.com

intholdings2@gmail.com Miami, FL 33056 Ph 786-295-1966

Supplier Code VC0000111292

Oupplier Code	\$ VC0000111292	1		
Agency Note:	s:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
W2114718B1 01 - 01	Group 1: Licensed Practical Nurse - Regular Hours · First Offer	\$28.00	8600 / hour	\$240,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
W2114718B1 - -01-02	Group 1: Registered Nurse - Regular Hours - First Offer	\$42.00	3000 / hour	\$126,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
W2114718B1 - -01-03	Group 1: Licensed Practical Nurse - Overtime and Callout hours - First Offer		100 / hour	\$4,200.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
W2114718B1 - -01-04	Group 1: Registered Nurse - Overtime and Callout hours - First Offer	\$63.00	40 / hour	\$2,520.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
				Lot Total: \$373,520.00

1/29/2018 p. 3

Address 950 Haverford Road

Delta-T Group, Inc \$417,270.00 (4/4 items)

Bid Contact Rachana Patel contractadmin@deltatg.com

actadmin@deltatg.com Bryn Mawr, PA 19010

Ph 800-251-8501 Agency Notes: Supplier Notes: **Unit Price** Qty/Unit **Total Price** Item # Line Item W2114718B1 \$33.00 8600 / \$283,800.00 Group 1: Licensed Practical Nurse - Regular Hours - First -01-**01** hour Product Code: Supplier Product Code: Agency Notes: Supplier Notes: W2114718B1 \$42.00 3000 / Group 1: Registered Nurse - Regular Hours - First Offer \$126,000.00 -01-02 hour Product Code: Supplier Product Code: Agency Notes: Supplier Notes: W2114718B1 Group 1: Licensed Practical Nurse - Overtime and Callout \$49.50 100 / hour \$4,950.00 -01-03 hours - First Offer Product Code: Supplier Product Code: Supplier Notes: Agency Notes: W2114718B1 Group 1: Registered Nurse - Overtime and Callout hours \$63.00 40 / hour \$2,520.00 -01-**04** First Offer Product Code: Supplier Product Code: **Agency Notes:** Supplier Notes:

JAYKAY MEDICAL STAFFING

\$432,570.00 (4/4 items)

Lot Total: \$417,270.00

Bid Contact Becky Niemann

Bniemann@jaykaymedicalstaffing.com
Ph 800-442-5441

Address 2058 Classique Lane Tavares, FL 32778

'	11 600-442-3441	1		
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
W2114718B1 01 - 01	Group 1: Licensed Practical Nurse - Regular Hours - First Offer	\$33.00	8600 / hour	\$283,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
W2114718B1 - 01 - 02	Group 1: Registered Nurse - Regular Hours - First Offer	\$47.00	3000 / hour	\$141,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
W2114718B1 - 01 - 03	Group 1: Licensed Practical Nurse - Overtime and Callout hours - First Offer	\$49.50	100 / hour	\$4,950.00
Product Code Agency Notes	7	Supplier Product Code: Supplier Notes:		
W2114718B1 - -01-04	Group 1: Registered Nurse - Overtime and Callout hours - First Offer	\$70.50	40 / hour	\$2,820.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
				Lot Total: \$432,570.00

RCM Technologies, Inc.

\$460,060.00 (4/4 items)

Bid Contact Andrew Hay andrew.hay@rcmt.com

Address 9 Polito Avenue

Lyndhurst, NJ 07071

Exhibit 1 Page 5 of 5

F	Ph 212-221-1544			
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
W2114718B1 - -01-01	Group 1: Licensed Practical Nurse - Regular Hours - First Offer	\$35.00	8600 / hour	\$301,000.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes: 35.00/Per Hour		
W2114718B1 01 - 02	Group 1: Registered Nurse - Regular Hours - First Offer	\$51.00	3000 / hour	\$153,000.00
Product Cod Agency Note		Supplier Product Co Supplier Notes: \$51.00/Per Hour	de:	
W2114718B1 01 - 03	Group 1: Licensed Practical Nurse · Overtime and Callout hours · First Offer	\$39.00	100 / hour	\$3,900.00
Product Cod Agency Note		Supplier Product Co Supplier Notes: \$39.0		
W2114718B1 01 - 04	Group 1: Registered Nurse - Overtime and Callout hours - First Offer	\$54.00	40 / hour	\$2,160.00
Product Cod Agency Note		Supplier Product Co Supplier Notes: \$54.00/Per Hour	de:	
				Lot Total: \$460,060.00

1/29/2018 p. 5